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CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

A trader gives successive discounts of 20%, 10% and 5% respectively.

What is his overall discount ? (PYQ)

A 30% - 4 -/’D'/\, S/
B. 31.6% Fwo 7 f80 7 72

C. 32.8% (Marked f“f‘l) [ (‘30—-8‘)

D. 35% (loo-zo)
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(@]

A trader gives successive discounts of 20%, 10% and 5% respectively. What is his overall

discount ? (PYQ)
A. 30%

B. 31.6%
C. 32.8%
D. 35%
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Q) A shopkeeper sells his articles at their cost price but uses
a faulty balance which reads 1000g for 800g. What 1s his

actual profit percentage ?
(a) 25% (b) 20%

. X p
©) 40% ) 30% (SP) ()

[000 — 800  x o0 =

800

L xto -:-
y



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q) A shopkeeper sells his articles at their cost price but uses
a faulty balance which reads 1000g for 800g. What 1s his
actual profit percentage ?

(@) 25% (b) 20%
(c) 40% (d) 30%

Ans: (a)
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Q) Two lots of onions with equal quantity, one costing ¥ 10
per kg and the other costing T15 per kg, are mixed
together and whole lot 1s sold at T 15 per kg. What is the
profit or loss?

(@) 10% loss (b) 10% profit
(¢) 20% profit (d) 20% loss

def each hof Gntaln % kd of onion .

I

o = Iox +15¢ = 252 :
--] P73 ft@ﬁé
P = Ib‘(xwt) > 301 )

- $p-¢P xpo = 5% KW= L
P AT

0% prfit
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EXAMS

Q) Two lots of onions with equal quantity, one costing ¥ 10
per kg and the other costing I15 per kg, are mixed
together and whole lot 1s sold at T 15 per kg. What is the
profit or loss?

(@) 10% loss (b) 10% profit
(¢) 20% profit (d) 20% loss

Ans: (c)
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Q) A milk vendor bought 28 7 of milk at the cost of ¥ 8.50 per /.
After adding some water, he sold the mixture at the same
price. If he gains 12.5%, how much water did he add?

—

(@) 551 b) 4.51 } o L
(©) 3.51 (d) 2.51

4 = (Rgfﬁ §50

pf = 4&”8"?0
fro/,‘f% = - xmo = IX(ﬁ' e ¥i1%
¢f 28 x 450

0.5
.5 :-‘.:%_Nm o x:‘ﬂ,/y;g,%’?__ :@
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Q) A milk vendor bought 28 7 of milk at the cost of ¥ 8.50 per /.
After adding some water, he sold the mixture at the same
price. If he gains 12.5%, how much water did he add?

(@) 5.51 b) 451
(©) 3.51 (d) 251

Ans: (c)

EXAMS



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS
(@]

Q) A man buys 4 tables and 5 chairs for ¥ 1000. If he sells
the tables at 10% profit and chairs 20% profit, he earns
a profit of ¥ 120. What 1s the cost of one table?

— 31 cost 97{’/ chair = ?t

(@) T200 (b) T220
(¢) 240 (d) T260
CP =42 + 5dr = foov —(;) /m,(}‘{ c I - &
= haflT ’” + 4 (H_?;_L 24 = 3‘?”30‘,1 -—(rku&dz)
f [00 5

= 4"/ X Got 0?31 f@dt = AL+ 30/& 20 = Ln?x -/-5‘%;‘—-'(2)
5 ;!
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//l + 5o¢ < [opDd
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CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q) A man buys 4 tables and 5 chairs for ¥ 1000. If he sells
the tables at 10% profit and chairs 20% profit, he earns
a profit of ¥ 120. What 1s the cost of one table?

(a) X200 (b) 220
(¢) T240 d) T260

Ans: (a)

EXAMS
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The cost price of 100 mangoes is equal to the selling price of 80 mangoes. What is the
profit percentage ? (PYQ -2021)
A. 16%

B. 20% b0 X cP of/ ma',-,d,, = 40 KSP o/ l mando
C. 24%
D

. 25% __cf_ -
op (f”'r IMQUQ > .ﬁ_- = _.?5:-

IR 1 xto =(257s
_5:-5 dfﬁ[erma =/ /9

(preit) Wi
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The cost price of 100 mangoes is equal to the selling price of 80 mangoes. What is the

profit percentage ? (PYQ -2021)

A. 16 %
B. 20%
C. 24%
D. 25%
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Q) A trader marked a watch 40% above the cost price and
then gave a discount of 10%. He made a net profit of

T 468 after paying a tax of 10% on the gross profit. What
1s the cost price of the watch? «——

(@ 1200 ®) 21800 <P Goss /Toﬁ'f = - ep
(©) 22000 (d) 72340
- 62 Cf—-U’ ;_I_g._.QP
Mp = "P(’f._‘!_”_, - 20p 5D
/oo) )
CP(/' ) 6.8
P = i‘-CP[/"_Q_. = 2xf cp =63 ¢
5 [00 5 0

,im’;r/oxso :
A X )



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q) A trader marked a watch 40% above the cost price and
then gave a discount of 10%. He made a net profit of
T 468 after paying a tax of 10% on the gross profit. What
1s the cost price of the watch?
(@) T1200 (b) ¥1800
(c) ¥2000 (d) ¥2340

Ans: (c)
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Q)One saree was purchased for ¥ 564 after getting a
discount of 6% and another saree was purchased for
T 396 after getting a discount of 1%. Taking both the

items as a single transaction, what 1s the percentage of 707“'/ M"ke4 f vlee
d1 ?
@ 35 ) 4 (4p) = o0 + Yoo
(©) 7 d) 75 = o0
Total distounted ibrfce (D)= F 56y + 3396 = 140
gy f Distounk  x (60
Mp I"'_é_, - NP - 3
( foo) 0 2 /% X 100 fp

v

g
Mp Wéfx!ﬁﬁ’_: 600 2 (000 — 760  xfo0 =
/ )28 - 2 Ypo B

v fope




CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q)One saree was purchased for ¥ 564 after getting a
discount of 6% and another saree was purchased for
T 396 after getting a discount of 1%. Taking both the
items as a single transaction, what 1s the percentage of
discount?
(@) 3.5 (b) 4
(c) 7 (d) 75

Ans: (b)

EXAMS



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q) A cloth merchant buys cloth from a weaver and cheats him
by using a scale which 1s 10 cm longer than a normal metre
scale. He claims to sell cloth at the cost price to his
customers, but while selling uses a scale which 1s 10 cm
shorter than a normal metre scale. What is his gains?

@ 20% ®) 21%
2 1
© 225% @ 237%

(#)

@i=]
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Q) A cloth merchant buys cloth from a weaver and cheats him
by using a scale which 1s 10 cm longer than a normal metre
scale. He claims to sell cloth at the cost price to his
customers, but while selling uses a scale which 1s 10 cm
shorter than a normal metre scale. What is his gains?

@ 20% ®) 21%
2 1
© 225% @ 237%

Ans: (c)

@i=]



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

A person bought a chair and a table for X 750. He sold the chair at a gain of 5% and the

table at a gain of 20%. He gained 16% on the whole. What is original cost of table ?
(PYQ-2021)

chaly Table
A. %400 ~—
¢p x W
B. X450 —
C. 550 ¢p  zXfos (H‘o-—Z) (fzo
D. - (00 )

X600 IBD\/



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

A person bought a chair and a table for X 750. He sold the chair at a gain of 5% and the

table at a gain of 20%. He gained 16% on the whole. What is original cost of table ?
(PYQ-2021)

A. X400
B. X450
C. X550
D. X600
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Q)By giving 25% discount a trader earns 25% profit. If he
sells the item at 10% discount, what 1s his profit?

(@) 10% b) 40%
(©) 45% d) 50%



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q)By giving 25% discount a trader earns 25% profit. If he
sells the item at 10% discount, what 1s his profit?

(@) 10% b) 40%
(©) 45% d) 50%

Ans: (d)
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X sells his goods 25% cheaper than Y and 25% dearer than Z. How much percentage is Z’s

good s cheaper than Y ? (PYQ -2021)
A. (100/3) %

B. 40%

C. 50%

D. (200/3) %
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X sells his goods 25% cheaper than Y and 25% dearer than Z. How much percentage is Z’s

good s cheaper than Y ? (PYQ -2021)
A. (100/3) %

B. 40%

C. 50%

D. (200/3) %
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A trader sells two computers at the same price, making a profit of 30 % on one and a loss

of 30 % on the other. What is the net loss or profit % on the transaction ?
(PYQ - 2019)

6 % loss

A

B. 6 % gain
C. 9%loss
D

9 % gain



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

A trader sells two computers at the same price, making a profit of 30 % on one and a loss

of 30 % on the other. What is the net loss or profit % on the transaction ?
(PYQ - 2019)

A. 6 % loss
B. 6 % gain
C. 9%Iloss
D. 9% gain
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A person sells two items each at X 990 , making a profit of 30 % on one and a loss of 30 %

on the other. What is the combined % of profit or loss for the two items ?
(PYQ -2019)

1 % loss

A

B. 1% profit
C. No Profit No Loss
D

0.5% Profit
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A person sells two items each at X 990 , making a profit of 30 % on one and a loss of 30 %

on the other. What is the combined % of profit or loss for the two items ?
(PYQ -2019)

1 % loss

A

B. 1% profit
C. No Profit No Loss
D

0.5% Profit
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Q) A man bought 500 metres of electronic wire at 50 paise per
metre. He sold 50% of 1t at a profit of 5%. At what percent
should he sell the remainder so as to gain 10% on the whole

transaction?
(a) 13% (b) 12.5% © 15% (d) 20%



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q) A man bought 500 metres of electronic wire at 50 paise per
metre. He sold 50% of 1t at a profit of 5%. At what percent
should he sell the remainder so as to gain 10% on the whole

transaction?
(a) 13% (b) 12.5% © 15% (d) 20%

Ans: (c)
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Q) A shopkeeper gets a loss 0f 28 (4/7)% on CP, find percentage

loss on SP. o
(@) 30% (b) 20?

(c) 40% (d) None of these




CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q) A shopkeeper gets a loss 0f 28 (4/7)% on CP, find percentage
loss on SP.

D
(@) 30% (b) 202”’
(c) 40% (d) None of these

Ans: (c)
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Q) Five kg of butter was bought by a shopkeeper for I 300.
One kg becomes unsaleable. He sells the remaining in such
a way that on the whole he incurs a loss of 10%. At what

price per kg was the butter sold?
(@ 6750 (b) I5250 (¢) I60 (d) 72.50

EXAMS
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Q) Five kg of butter was bought by a shopkeeper for I 300.
One kg becomes unsaleable. He sells the remaining in such
a way that on the whole he incurs a loss of 10%. At what
price per kg was the butter sold?
(@ 6750 (b) I5250 (¢) I60 (d) 72.50

Ans: (a)

EXAMS
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Q) A shopkeeper allows 10% discount on goods when he sells
without credit. Cost price of his goods 1s 80% of his selling

price. IT he sells his goods by cash, then his profit 1s
@ 350% (b)) 70% () 25% (d) 40%



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q) A shopkeeper allows 10% discount on goods when he sells
without credit. Cost price of his goods 1s 80% of his selling

price. IT he sells his goods by cash, then his profit 1s
@ 350% (b)) 70% () 25% (d) 40%

Ans: (c)
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EXAMS

Q) A dealer of scientific instruments allows 20% discount on
the marked price of the instruments and still makes a profit
of 25%. If his gain over the sale of an instrument 1s < 150,
find the marked price of the instrument.

(a) <938.50 (b) X940
(c) <938 (d) 937.50



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

EXAMS

Q) A dealer of scientific instruments allows 20% discount on
the marked price of the instruments and still makes a profit
of 25%. If his gain over the sale of an instrument 1s < 150,
find the marked price of the instrument.

(a) <938.50 (b) X940
(c) <938 (d) 937.50

Ans: (a)
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Q) A shopkeeper buys a product of ¥ 150 per kg. 15% of product
was damaged. At what price (per kg) should he sell the
remaining so as to earn a profit ot 20%?

13 13

205— 207 —

() X205~ (b) 7
13 13

~ - 2211—
© 220 @ 17

EXAMS
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Q) A shopkeeper buys a product of ¥ 150 per kg. 15% of product
was damaged. At what price (per kg) should he sell the
remaining so as to earn a profit ot 20%?

13 13

205— 2207

() X205~ (b) 7
13 13

) %209 2211—
© 2P @ 17

Ans: (d)

EXAMS
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EXAMS

Q) The price of a jewel, passing through three hands, rises on
the whole by 65%. If the first and the second sellers earned
20% and 25% profit respectively, find the percentage profit
earned by the third seller.

(@) 20% (b) 10%
(c) 25% (d) No gain or loss
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EXAMS

Q) The price of a jewel, passing through three hands, rises on
the whole by 65%. If the first and the second sellers earned
20% and 25% profit respectively, find the percentage profit
earned by the third seller.

(@) 20% (b) 10%
(c) 25% (d) No gain or loss

Ans: (b)
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Q) A sells an article which costs him I 400 to B at a profit of
20%. B then sells 1t to C, making a profit of 10% on the price

he paid to A. How much does C pay to B?
(@) I472 (b) 476 (c) I528 (d) <532



CDS & AFCAT 1 2025 REVISION - MATHS - PROFIT AND LOSS

Q) A sells an article which costs him I 400 to B at a profit of
20%. B then sells 1t to C, making a profit of 10% on the price

he paid to A. How much does C pay to B?
(@) I472 (b) 476 (c) I528 (d) <532

Ans: (c)
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D L .. 1
Q) An article is sold at a certain price. Ifit is sold at 33 ;% of

. : 1 :
this price, there 1s a loss 0133 3 %. What 1s the percentage

profit when 1t 1s sold at 60% of the original selling price?

@ 17%

1
@ 20 ) 30 © 33 -
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D L .. 1
Q) An article is sold at a certain price. Ifit is sold at 33 ;% of

. : 1 :
this price, there 1s a loss 0133 3 %. What 1s the percentage

profit when 1t 1s sold at 60% of the original selling price?

@ 17%

@ 20 ) 30 ©) 33 -

L | =

Ans: (a)
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